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3. OSdlU6d0lllh.6  “School in England and Wales” 'hIJI&&dh6$09

SchooLi  in England  and  Wales

A foreign visitor to England finds English education hard to under-
stand. This is because there is n.ot  just one educational system but
a number of systems existing side by side.

First of all we can divide the schools into three kinds according
to whom they belong to. There are private schools, public schools
and state schools. First the private schools; these are run as private
profit-making businesses usually owned by the headmaster. They are
mostly for younger children. The parents pay fees. Secondly there
are the public schools. Their name is misleading. In America the
term ‘public school’ means what it says-a school which is publicly
owned and supported by the taxpayer. The English public schools
are public in the sense that they are not privately owned by in-
dividuals but they are not owned by the government. They are
independent  being governed by their own school committees. They
charge fees but do not aim to make a profit. Some of them are con-
nected with particular churches. About 6% of English children go
to either private or so-called public schools while the other 94% go
to the state schools.

The name of the state schools is also a bit misleading because
they do not come directly under the central government. Each
county and city has its own Local Educational Authority which
runs its own schools. Each authority is allowed a certain amount of
freedom in the way it runs its schools. This means that there are
uuriationr  between the different towns and counties, Scotland also
has her own system which is different from that found in England
and Wales.
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Many local education authorities follow a system dating back to
1944.  There is a primary school Qr six years from five to eleven. At
eleven all children take an examination called the ‘I I plus’ to
decide which kind of secondary school they should go to. The most -

.intelligent  25% or so are selected for the grammar school. These
children nearly all stay there for five years until they are sixteen
and many stay on to seventeen, eighteen, or sometimes nineteen.

These schools are called grammar schools because in the Middle
Ages  they spent most of their  time studying Latin grammar. Now,
of course, they do many other subjects as well. At the end of their
course they take a public examination called the General Certifi-
cate of Education or G.C.E. for short. The other 75% who do not
get into the grammar school go to the secondary modern school.
They do less advanced work and very few stay after they are sixteen.

Many towns and counties have gone over to a new kind of
school called the comprehensive school. They have no ‘II plus’
examination. All the children go to the same school  where there
are different classes doing different kinds ofcourses but it is possible
to change from one class to another.

There is a lot of discussion going on among teachers, parents, and
politicians about the advantages and disadvantages of the different
types of school. Some people feel that the state should take over the
private and public schools and make them free for all, because it is
unfair for the children of richer parents to get a better education
than the others and so have a better chance of getting into
universities and getting good jobs.

.
Some would like to keep the grammar schools and secondary

modern schools as they are while others would like the whole
country to change over to the comprehensive system. They argue
that it is wrong to settle a child’s future with a test at the age of
eleven. It is wrong to test him and then, if he fails, say: ‘You are a
failure; you’ll never get to university.’ In a comprehensive school
this does not happen. Everybody is given the chance to go as far
as he can.

It is impossible to guess what kind of system England will have
by the year 2000.

Em
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9.
I O .

How does English education seem to the foreign visitor?
Why is this? -
What are the  different kinds of school in England?
Who usually owns the private schools?

Who usually owns the public schools?
What is the difference between American public schools  and
English public s&As?
How many children go to the public and private schools in Eng-
land and how many to the state schools?
Who controls the state schools?
When did the older system of state schmls  start?
What happens when c.hiIdren  are eleven?
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B
I. education

2, pro&making

3. misbading

4. i7ldepcndent

5. chargefees

-.
6 . uaribtioG-P

7. selected

8. less aduanced

9.  discussion

IO. settle

is to do with:
(a) government (b) law
(c) schools (d) business

(a) commercial (b) charitable
(c) technical (d) expensive
(a) impossible to understand
(b) easily explained
(c) old-fashioned
(d) confusing
(a) non profit-making (b) self-governing
(c) private (d) nationalized

(a) teach what they like
(b) give free education
(c) choose their children carefully
(d) make the parents pay

7a)  quarrels (b) arguments
(c) differences (d) competitions

chosen
sent

up-to-date
simpler

trouble
argument

stop
swing

(b) taken
(d) decided

(b) tougher
(d)  more practical

P,) ‘aw”
(t ( &mpetition

(b) stick

(4  f$
tr.  The foreign visitor finds English education hard to understand

because it is:
(a) inconvenient (b) complicated
(c) ancient (d) extraordinary

12. (a) the private schools charge fees but the English public schools
don’t

(b) the public schools are really privately owned
(c) the public schools are really public but the private schools are

only private in name
. (d) private schools are’priyate but the English public schools are

not really public

13. In the places where the older system, is used:
(a) about 25%  of the children go to secondary modern schools
(b) about half go to grammar school
(c) about a quarter of the children go to grammar school
(d) one-third of the children in England go to the secondary

modern school

14. Many people dislike the grammar school system because:
(a) it causes a lot of argument
(b) the children are divided into different groups too early
( c ) it gives an unfair advantage to rich children
(d) it means that the intelligent children are neglected

15. One advantage of the comprehensive school is that :
(a) everybody is taught the same course
(b) there are fewer examinations
( c ) it gives the brighter children more opportunities
(d) the less clever children are not made to feel useless.
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